
Q1) A) Fill in the blank. (Any Five) [5]

i) When the consent of party is not free, the contract is ________.

(void, voidable, valid)

ii) The purchasing price of the promise is _______.

(Consideration, Profit, Gain)

iii) Every Partner is _______ of the other partners.

(Agent, Employee, Creditor)

iv) _______ type of agreement is used to form a Partnership firm.

(Written, Oral, Both)

v) There must be at least _________ parties to the contract of sale of
Goods.

(One, Two, Three)

vi) The arbitrator can appoint __________.

(An Expert, A member, An Agent)
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B) Match the following [5]

Group A Group B

i) Indian Contract Act a) 01 October 1932
ii) Limited Liability Partnership b) 01 April 2009
iii) Indian Partnership Act c) 01 September 1872
iv) Sale of Goods Act d) 01 July 1930
v) Arbitration and conciliation Act e) 22 August 1996

Q2) Define 'Contract' Explain Essential elements of the Valid Contract. [15]

Q3) What is Dissolution of Partnership? Explain the modes of dissolution
(methods). [15]

Q4) Define the term 'Sale' & 'Agreement to sale of Goods'. Distinguish between
Sale & Agreement to sale of goods. [15]

Q5) What is Arbitration? Explain Powers & Duties of Arbitrator. [15]

Q6) Write Short Notes (Any Three) [15]
a) Conciliation Process
b) Capacities of Parties
c) Kinds of Goods
d) Advantages of LLP
e) Undue Influence
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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^am. (H$moUË`mhr 5) [5]
i) Á`mdoir H$ama H$aUmè`m ì`º$sMr g§_Vr hr _wº$ ñdê$nmMr ZgVo Voìhm Vmo H$ama

............ R>aVmo.
(ì`W©, dO©{Z`, H$m`Xo{ea)

ii) dMZmÀ`m IaoXrMr qH$_V åhUOo ............. hmo`.
(à{V\$b, Z\$m, \$m`Xm)

iii) àË òH$ ^mJrXma hm BVa ^mJrXmam§Mm .............. AgVmo.
(à{V{ZYr, H$_©Mmar, YZH$mo)

iv) ............... àH$maMm H$ama hm ^mJrXmarÀ`m {Z_uVrgmR>r Ho$bm OmVmo.
(boIr, Vm|S>r, boIr d Vm|S>r)

v) _mb{dH«$sÀ`m H$amamV {H$_mZ .............. nj AgboM nm{hOoV.
(EH$, XmoZ, VrZ)

vi) _Ü`ñWmbm .............. {Z ẁº$s H$aVm ̀ oVo.
(VkmMr, gXñ`mMr, à{V{ZYrMr)

~) `mo½` OmoS>çm bmdm [5]

"A' JQ> "~' JQ>

i) ^maVr` H$ama H$m`Xm A) 1 Am°ŠQ>m|~a 1932

ii) _`m©{XV O~m~Xmar ^mJrXmar ~) 1 E{àb 2009

iii) ^maVr` ^mJrXmar H$m`Xm H$) 1 gßQ>|~a 1872

iv) _mb {dH«$sMm H$m`Xm S>) 1 Owb¡ 1930

v) _Ü`ñWr d gbmoIm H$m`Xm B) 22 Am°JñQ> 1996
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àíZ àíZ àíZ àíZ àíZ 2) H$ama åhUOo H$m`? H$m`Xoera H$amamMo Amdí`H$ {Z`_ ñnï> H$am. (KQ>H$) [15]

àíZ àíZ àíZ àíZ àíZ 3) ^mJrXmar g§» òMo {dgO©Z åhUOo H$m`? ^mJrXmar g§»`m {dgO©ZmÀ`m nX²YVr ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 4) "_mb {dH«$s' d "_mb {dH«$sMm R>amd' `m§Mr ì`m»`m gm§JwU \$aH$ ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 5) _Ü`ñW qH$dm bdmX åhUOo H$m`? Ë`mMo A{YH$ma d O~m~Xmè`m ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 6) {Q>nm {bhm (H$moUË`mhr VrZ) [15]

A) gbmoIm / g_PmoVm H$m ©̀nX²YVr

~) H$ama H$aUmè`m ì`º$s¨Mr nmÌVm

H$) _mbmMo àH$ma

S>$) LLP (_`m©XrV O~m~Xmar ^m{JXmar) Mo \$m`Xo.

B) AZw{MV à^md.




